e R THE E K HE WM EKE R — B (4 B 15 B & HB )
BT 1 mg/0 (RIBEXK : CFU/100me)

# E b | ]
x /S = s 09:23| W | ER|EE| 16.3 12.0 7.1i 21.6 10| <0.5| 0.9 1 190 <0.5 <0.5| <0.05| 0.74 o0.74[ <0.1| <0.1
s 1 /-3 1% 09:06| W |M|R|M|E| 16.8 14.0 6.9 22.0 10 0.6 0.9 3 95 <0.5 <0.5| <0.05 4.4 4.4 <o0.1 0.1
B o ¥ s 11:18| W |\R | |\E| 16.9 15.0 7.0 21.7 9.5 0.6 1.3 3 26 <0.5 <0.5| <0.05 4.4 4.4 0.1 <o.1
all % B / T & 09:30| W | M|MR | M|E| 151 16.0 7.0i 22.1 9.6 0.8 1.5 4 490 <0.5 <0.5| <0.05 4.3 4.3 0.1 0.1
ERXAE (& F) 10:05( [ | R |s=ew | 15.1 15.0 7.2} 21.9] 9.0 2.0 3.0 6 500 <0.5 <0.5| 0.06 3.7 3.7 0.8 <o.1
x & B I i} 3] 1% 10:40| W | MR |seem | 16.4 14.0 7.20 21.17 9.7 0.6 2.7 10 270 <0.5 <0.5| <0.05 2.0 2.0 0.1 0.4
XBHHE (KRE) 10:20( W | R |seew | 17.1 15.0 7.21 22.0[ 9.1 3.9/ 4.8 11 560 <0.5 0.5 1.3 2.8 4.1 <o.1 0.6
,g N BROB OB 09:00 W | MR | fEEA| 148 16.0 7.2 22.1| 9.0 10l 1.9 2 430 €0.5 <0.5| 0.05 3.5 3.6 0.1 <0.1
E 7 2] 3 10:00| W |ER|EEA| 16.0 12.0 7.4 22.6 10| 0.5 1.3 15 59 <0.5 <0.5| <0.05 0.71[ 0.71| <0.1 0.3
2 Bk (Bukn) 10:34| B [memw|wew | 19,4 10.0 7.8 23.1 5.6 98 160( 130 14, 000 0.5 0.5 16 16 32 76 10
- 3Bk 10:50] B |wosw|mew| 17.1 10.0 7.6; 22.8 9.8/ 4.9 13 5 7,600 <0.5 <0.5| 0.22 4.5 4.8 0.9 0.7
RAE® (2. 3E5HEKKRAH) 11:06| B [merw|mew| 15.8 12.0 7.7) 22.5 8.1 24 39 27 6, 200 <0.5 <0.5 1.5 14 15 17 5.0
5 5HEKE IS 9T 09:45( W |ER (seew| 15.1 13.0 7.3} 22.3 10 11 12 3 1, 600 <0.5 <0.5| 0.33 6.3 6.6 1.2 1.6
bR PRI LR (Bmdik) |11:20) W | MR |xeew | 17.9 15.0 7.3f 22.8 2.8 17 27 20 4,500 0.5 <0.5| 0.58 9.1 9.7 13 5.0
E B T 453 i 0.5/ 0.5/ 0.5 1 1 0.5 0.5 0.05| 0.05| 0.05 0.1 0.1
A B il p o bi-5 & 6.5=P=8.5 |7.5<P|P=2.0 P=<25.0 P=300 P=<10.0
B H il = b i 6.5=<P<8.5 |5.0=P|P=<3.0 P<25.0| P=1,000 P<10.0
C 3H bisl b % & 6.5=P=8.5 5, 0=P|P=5.0 P<50.0 — P=10.0
E H il P b & 6.0=P=<8.5 |2.0<P|P=<10.0 — - P<10.0




